>

T2 E R REEERBERETRENERE
i ﬁﬁi’@(lz_%’%?iﬁ[@iﬁﬁﬁké

C

KE—R:20172003)

#2020 F AR T — e EE R THERS

L& 5

y/ i

B . REPRSHEAREFTERRTREFTLEES

(—W) Rk LB BE #XhE Btk =
B E ORISR E HE B L R
i H  Sf247H250 (), 26 H(H)
= Y VAR A TN R LS (172060)
# H K AIH W
FCoEk E AR IR RX
@JE—hkE
£ fie  ARMENEN RARE BEirosl — M EE AR B R B
% B ARMEENEESF PRI EER
B =D RE TRINLSICRLER
aft| 2 |hm| s | ms R e
7/26 tégﬁ& o jigigﬁ BE Eon Eﬁ\fﬂg 4351
W/ Rars vay
NI FAra IS FArA
7/25 | 9:00 | &Y | s | o8 |225| 87% 7/26| 9:00 | &b ﬁf 1.1 | 23.0 | 87%
7/25 [ 9:30 | &Y [ mEs | 11 | 22.0] 87% 7/26 | 9:30 | &b [ mEE | 0.7 | 23.5 | 87%
7/25 | 10:00 | &Y | BEs | 0.7 | 225| 91% 7/26 | 10:00 | 4&b [%f 1.1 | 25.0 [ 80%
7/25 [ 11:00 [ RN [ | 0.6 |23.0| 87% 7/26 | 11:00 | WA [ M| 2.1 | 27.0 | 63%
7/25 | 12:00 [ R | MM [ 2.0 [ 23.0] 83% 7/26 | 12:00 | #Eiv [ AL | 0.4 | 28.5 | 60%
7/25013:00 | W[ mER [ 0.7 | 235 87% 7/26 | 13:00 | &Y ﬁ%ﬁ 3.5 | 27.0 | 70%
7/25 | 14:00 | &Y | = 0.1 | 245| 79% 7/26] 14:00 | RN | B[ 1.0 | 245 88%
7/25 [ 15:00 | &Y [ Mg | 1.9 | 24.0| 89% 7/26 1 15:00 | &0 [ 4 | 0.9 | 24.5 | 88%




FMMEERFRSEFERREATREAEBEARE F HERERSHFIRBLBRXR

RBFEHE—ER
(GR: K&%) Z F [35035] 172060 {EAMBAESNERE 3RS
k5 2 3L 4% 51 6 fir 7 {1 8 fir
A/8 2 _H B EE AR i OB ER TR i OB KRR i OB KRR i OB ER TR i OB ER TR i OB ER TR i OB ER TR &
07/25 &+ -2 0% 3 12.30 a1@ ZHE Q) 12 R AR 2203 294 E X ()  13.40k% Z/EQ) 1349 = F Zed 73.56 HE5K FART (2) 1411
100m BR-EARES BR-EARES Bk INES Bk A FIEPE BR-EARES =LA Bk INES
07/26 -2. 202 HEAEG) 2527 #1E ZHIEG) 25.98 ARk BE Q) 26.25 #B& 7€M (3) 27.05/AF B (2) 27.43[12 EF (2 28.06/ 47/ LN (1) 29.45;p BEF (1) 32.10
200m =ER-EARES EREARES ak-INES BR-EARES B ALFIEPE Bk AL FIEPE Bk AFEA =t LAAES
07/25 ER B () 58.05 #B& 7€ (3) 58.03|#m:E BMIE(2)  1,04.05 % WA (1) 1,08.06/%F* ®F Q) 1,12.25
400m BR-EARES BR-EARES Bk INES Bk AFEH =#- LA
07/26 ER B () L2214 mEFEA) 2,22, 73|33 FERQ)  2,26.85 8 =4 ()  2,30.66 Tk mE (1)  2,40.83|HKE E(2) 2,43 49 FiR 7 (2) 2,50.58 £ @il (1) 2,52 84
800m BR-EARE BR-EARES BR-EARES Bk INES Bt FALEAE Bk LAES =% 5iRE =LA
07/25 E13 FIER (3) 4 59.74 4% ZEE(2) 5 0461 HiE = () 5,22.50| A &M@ #H(2) 5 37.20 iR 7€) 542 63 BE &% (2) 55202 &% HeE () 552.33F%A < AH(2) 55880
1500m BR-EARES BR-EARES B LAES =LA - 5iRE Bt FALEAE Bk AFEA Bk INES
07/26 WA BER) 11,11.59
3000m BR-EARES
07/25 -1. 42 BBEQ) 14.52 2 [FoA(2) 14.69/1EE F4& (3) 15.29 BE ®BE (2) 16. 08
100mH BR-EARES BR-EARES BR-EARES .—;&-J:EE?&@E
07/26 1ZH 5E’1(3) 1,05.30| KEE i#um 1,06.21)4k18 =¥ () 1,018/ #LE EIE(Q  1,12.50 #K & (D 1,13.95/AF BE(2) 1,14.22| 5% %2F(2) 1,14.86/ @ HX@Q) 1,14.96
400mH B EARES EBR-EARE ak-INES .—.h-ll\éﬁ% BR-EARES Bk AL FIEEE k- 5iRE Bt FALEAE
07/26 =R %% (3) 29, 14.01 Nk Bﬂa,ﬁ(s 30 53.06 I&+ FF&(3) 32,14.00 B 1 (3) 34,21.84 thils H{Eg(2) 34,45.97
5000mW - FiRAL k- 5iRE B LAES = LAfES Bk AFEA
07/25 AT EQ 3.00 8K XE () 2.70
HE Bk BR-EARES BR-EARES
07/25 &RA BEREQ) 1.60/4TH BZ (1) 1.40|E5 #&E (2 1.40 "ok Famt (2) 1.35
EE B BR-EARES Bt FALEAE =ik EARE Bk INES
07/25 BT BE0) 5. 11(+1.1) [Eil 8 (1) 5.07(+1.0) |[tLbEFH ;& (2) 5.07(-0.6) |48 = (2) 4.91(+1.6) | HE Hﬂ—iﬁm 4.82(+1.9) #HE =) 4.70(+1.8) ;B8 & (2) 4.62(+1.5) mHl® Fi (1) 4.51(+1.5)
ENEBE =LA Bt FALEAE B NEE Bk NES Bk Eh-xmﬂh BR-EARES BR-EARES
07/26 75 ABIE(3) 10.40(+2.0) |k FMA (1) 9.75(+2.8) /MR HME(3) 9.62(+3.2) Heh =% (3) 9.51(+2.4) |EH éa (3 9.29+2.7) | KE ZnH() 0
=Rk E- FALEAE BREARES Bk INES Bt FALEAE B LAES =t LAAES
07/26 WiE B3 (Q2) 9.79 #1E =& (2 8.03iE8 HEQ) 7.85 1k #& (1) 7.16
ranE a2 tHESR ai- EHES B -EAERE E-INES
07/25 58 BE=Q) 28.78| &= BRZ (2) 28.59| ##k #1E (1) 28.19 &0 #E Q) 26.48 BIE 5E(2) 22.97 HE BF () 22.03 &:E #unt (2 18.04 IR 15 (2) 16.70
M #g% k- EiRE Bt FAZEAE =LA B EATRE Bk LAES Bk AFEA Bk LAFHE Bk INES
07/25 ZE %) 30. 79| BF (2) 18.16 557k A (2) 16.51 &2 fxt (2) 15.78
nR-1% Bt FAZEAE Bk AFH =t LATFHS Bk EAFHE
07/26 5% BEQ) 37.94 5K A (2) 32. 46| HE B (2) 31.53|mE =% O) 26.90 W)l EHE ()  26.83 IR DIE(2) 25 11/~ & () 25.08 #tE =58 (1) 21.95
vy Bk EiRE = LATFHS Bt FALEAE BR-EATRE Bk LAES Bk INES Bk LAFHE Bk A FIEPE
07/25 EARES 4756 /heEE 52. 20| H FIEEE 53.88| FA%AE 54.06 tATES 56.76 E5iRE 56.93 AT S 59.27
4%x100mR g BEZEQ) HeSk et (2) DR (1) 7 HRTE (3) KB ZO#H7) 55 WX Q) M| B
FE HFRQ) LEHF EZ(Q) Heh B (2) Bl B A) MR BERF) 5H X2FQ2 BEK R (2)
BA EH Q) il =ZEQ) wiE =18 (1) He &k Q) BE KO B8 EE0) INE E(2)
BIE ZHTEQ) wmE AL (2) 2 ERIQ BE BRQ2) =T #HEQ) 2R 1E(2) EE B (2)
07/26 INES 4,17.50 EARES 4,18.30 tAZAR 4,34, 13 AL FESEE 4,37.27 tAES 4,59.10
4x400mR wmiE RIE (2) &HE ZFE3REQ) 78 ARTE (3) He B (2) BEa EQ)
REok Fant(2) EH X4 Q) He &=k Q) B ERIQ HiE % (2)
&8 X% Q) ERE FIR Q) BE BR(Q2) D R (1) ZEH EF Q)
kB =% Q) BA f£8#H 03) LA #HTE(2) wig 18 (1) g+ R (3)
07/26 TE FE0M(Q) 4549 K% BE () 3818
tiERRE =Rk EE GRER-EAEES




ZF

FE 7H258  10:50
REE 7H258  13:20
700m
B &3 KR) 12.00
A& (GR) 12.04
FiE BEEE 2 0% + 8 CIEGIEBBE o: %4 LIEEBRE
[ 148] RELE -1.1 [ 2481 LR -1.6
IE| Y| No. E £ iE%& B8k EE  JE -y No. E £ iE% R EE
1 3 1309|m1TE EHTEQ) B 12.74 q 1 3 1304 FE HERQ) B 12.21 g
I8 &/h EARES 7h49 7Y% EARES
29 1340 A% BEQ B 13.069 | 2 5 1299 %k ZL/EQ) & 13.64 g
bk IHh INES 4 /73 EARES
30 1 138582 E R (2) |BEkK 13.379g |3 4 145 =F BEN) |&k 13.71 g
Y93 EbS HNFIEZEE Y b tH
4 5 1348 Hek MM () Bk 14.246q 4 9 1331ke@EHF E(Q) |BK 13.72 q
9L Tht INES LAY, INES
5 6 1229 mgE BI() B 14.66 5 6 1461 ThE mA (1) & 14.82
1Y~ NV R4 VINUIPY) LTHZEAR
6 7 1388Em &A1) |Bk 14.90 6/ 7 1532|KE Co#() | 14.96
D8N TR H HNFIEZEE 115 3/3 FTAAES
70 4 1533 BEEF (1) |5 15.20 70 2 1271ERE &) = 15. 49
159% Y+ FTAAES sVINUIVb) AFH
8 8 1270 RJI EA(1) & 15.47 8 1 1231tk =M (1) |5 16.03
9 N F AFH #b9 39 R4t
2 1460 E1L & (1) =i 8 1249 BB Ex (1) =R
p3YY %I THESR Ri5 ARV FiRm Ri5
R B
BEE -2.0
IE| Y| No. E £ iE%& Bk mE
1 7 1304 FE HFERQ) B 12.30
7049 73% EARES
2| 4 1309/31E ENHEQ) B 12.72
I8 k/h EARES
3 6 1340AR BEQ B 12.94
hk b INES
47 5 1385 EFZ () [Ek 13. 40
Y93 kb3 A FIEFEE
51 0 1209k 2/ £Q) &k 13.49
T4 //3 EARES
6/ 8 1415mF BEN) |5k 13.56
Y b tH
T2 1348 ®Ek MM (2) B 14.11
9L Tht INEE
3 133 |teEH EQ) B
B84 Uy IMNEE Ri5




ZF

200m

BE % (KR) 24.53
KL% (GR) 24. 81
R B
BiE -2.2

JE[ v-v | No. K 4 kA ik EE

1 5 1304 FZE HEHRQ) B 25.217
7h¥9 7Y% EARES

20 7 1309|&#TE ZHEQG) B 25.98
I8 k/h EARES

3| 3 1340|Ak BE(Q) @Bk 26.25
b Ith INES

4] 9 1302 X EHQOG) B 27.05
NEF b EARES

5/ 6 1384/@Ed BE(2) =153 27.43
41h #% HNFIEZEE

6/ 4 1381 EFZI(Q2Q) AR 28.06
YY3 ERE AFIEPE

7 8 122 L (1) B 29.45
4mF 14 AFH

8 1) 1533t ExEF (1) B 32.10
159% Y+ FTAAES

9/ 2] 1270 EE() &K 32.76
417 N3 % AFH

[(RES

[1TH26H

113:55 |




ZF

400m

B 5% KR) 55. 42
AR (GR) 55. 45
R
IE -y No. K 4 R4 iR thE
1 7 1305 jE& BB () =15 58.05
4FA E/ EARES
2 3| 1302|#BK TE®H (3) =15 58.93
NEM Hib EARES
3 4 1345 ¥piE RETE (2) a2 1,04.05
YH 49 79 NS
4 8 1272 %W LN (1) =15 1,08. 06
4mF 14 A H
5 2 1427 &RH#H BREFQ) =15 1,12.25
444 Yanh @A
9 1297 =@ F=R Q) =15
VN Y 4373 EARES P
5 1438|FE % (2) =15
E3Y° v 714 FTAERES Ri5
6 1256 §H FALFQ2) ER
194 112 BRE Ri5

[(RES

1R 258

[12:20 ]




ZF

= 7268 (1025
R 78268 13:30
800m
BE# (KR) 2,05.78
K&# GR) 2,10. 37
FiE BBEE 248 35 + 2 O IERIEEBE o: 24 LIEEBE
[ 1#4A] [ 24A]
B No. KE 4% R B EE | B No. E % R Bl Y8 E
1] 8 1306 @l &) [B 2,25.33Q 1 1305 8 B (1) &tk 2,26.66 Q
1747 13 EARES 79FA k) EARES
2 3] 1296 FAH# PERQ) B 2,33.73Q 2 1346 E8 £ () Bk 2,29.56 Q
924 Y EARES D4FA" 319 INES
3 7] 1461 IEE mR() B 2,41.35Q 3 1434 &1 % (2) =& 2,40.62 Q
VNI tHEEAE g T4 LtEES
4 1] 1255/FR 1E(2) =& 2,41.10 g | 4 1540 B F #FEQ &% 2,58. 64
ARV iR Nz TAl FTAABES
5 6 1413FEH @A) &% 2,47.53 q 1267 #t E£E(2) &K
934 3tk i 17 319 EFH x5
6 9 133258 EX () &% 2,48.34 1423 ik #EQ2) &%
T#97 tf INES #4914 tH Ri5
7020 133418 E=H() B 2,53.48 1250 8 BX (1) &K
NIV ES INES Thy' v af iR Ri5
8 5 1273/EHE HLeEA() &% 2,54.33 1411 B EHM0) &%
g J7h AfH YEY Y HA3 A Ri5
4] 1438/ EE %E(2) B
£3Y° 3 744 tRAES x5
R
[ No. E 4% R 5 mE
1] 1 13058 Bhd) [&& 2,22.14
74FA k) EARES
2 5] 1306/ E£fE() B 2,22.73
1Fh7 134 EARES
3 4] 1296 A PERO) &K 2,26.85
924 Y EARES
4 8| 1346iF:8 £H () |BR 2, 30. 66
D4FA" 319 INES
5 6] 1461 T8k mE (1) &% 2,40. 83
VINVIRI LTHESE
6 3 1434 HiE ZQ) =R 2,43.49
g T4 LtEES
707 1255 FR FE(2) =% 2,50. 58
S AVEDS iR
8 2] 143EH @R B 2,52.84
434 3tk LH




ZF

175600m

BE#H (KR) 4,17.77
K&H GR) 4,28.19
R B
IE No. E £ TEA Bk mE
1 70 1296 E3F FEHR (3) =R 4,59.74
924 W EARES
2 6 2254/%A BE(2) =R 5, 04. 61
97 Ith EARES
3 9 1434/ 51E (2 =i 5,22.50
Iy T4 t@EEE
4 10 1426 ARHE #FH Q) =& 5,37.20
hE 4 94 +H
5 5 1255 FiR £ (2) =R 5,42.63
FIH D N FiRE
6 4/ 1457 @A FHE(2) =R 5,52.02
Y4 bk LTHZEAR
70130 1273\ HtE FraE (1) S 5,52.33
g /)% EFH
8 14 133 FHA <5#2) &k 5,58.80
EhY Hn3 NS
9 2| 1456 LA BHTE(2) =i 6,51.06
5 tRZAE
11 1267 FHE EE(2) =R
17 319 AFH Ri5
3 14148k FE(N) B
AR i x5
8 1423 EiE #51E(2) =R
#4014 i x5
11 1250 b B B (1) =R
thy' v af FiRE x5
120 1346 & =4 (2) =i
D4FA" 319 INES Ri5

[(RES

1R 258

112:40 |




ZF
3000m

B 5% KR) 9,01. 36
RKEH GR) 9,27.79
R B
[ No. E % mEa R WE
11 254 %K BEQ) Bk 11.11.59

YA9F EARES

[(RES

[1H26H

1445




ZF

700mH

E= % (KR) 14.10
KEH GR) 14.10
R
BiE -1.4

JE[ v-v | No. K 4 kA ik EE

1 5 1300 rhiE BEZEQ) o 53 14.52
1Y bn EARES

2 4/ 2253/ FOHM(2) B 14. 69
YFY /8 EARES

3 6/ 1298 iF@A F 4 (3) 53 15.29
b+t EARES

4 3 1453 BE HBER(Q Bk 16. 08
Aht b43 LTHZEARE

[(RES

[7TH25H

11:45 |




ZF

B [7B2680 _ 12:10]
400mH
B &3 KR) 58.27
K&H GR) 58.99
R
[ 148] [ 248]
IE| Y| No. E & TEA B8k EE  JE -y No. E £ TEA R EE
1 6 1307/ %K & (1) =8 1,13.95 1 6 1298/#F@ %4 (3) & 1,05. 30
ho7% EL EARES vhe +t EARES
2] 3 1256|153 FLFQ) [Ek 1,14.86 2 4] 2266 KE BF() B 1,06. 21
131 113 BiRE b 3 EARES
3 5] 1483/@A+ £XxO®) B 1,14.96 3 T 1347/kEE ZEQ) [Ek 1,09.18
Ath 193 LtHEAR $1% Iy INEES
47 4 1827\ BREFQ B 1,19.27 47 3] 1345 ¥ RIEQ) |B 1,12.50
444 Yah tH YHE #9794 IMEE
5 5 1384 Erh BE(2) =8 1,14.22
41h #% NFIEZEE




ZF

400mH

AALL—X

JEHZ  No. E £ HERFE R4 ) B # | IEAE
11 1298 IFEMA FE 4 () [SL5A EARES 1,05.30 2 1
2 2266 KR Z# () [SL5A EARES 1, 06. 21 2 2
3 1347/4k18 =% (2) [SL5A NS 1,09.18 2 3
4] 1345 #niE RTE (2) [SL5A NS 1,12.50 2 4
5 1307 #8K 8 (1) [SL5A EARES 1,13.95 1 1
6 1384 H Bk (2) [SL5A NFIEFEE 1,14.22 2 5
7 1256 §H# ELF(2) [SL5A EPNE 1,14.86 1 2
8 1483 He EX(@3) [SL5A FHRZERE 1,14.96 1 3
9 1427 &H BEF () =15 @A 1,19.27 1 4




ZF
5000mw

B 5% KR) 23,10.04
KE# (GR) 23,29.27
R

I No. K 4 R4 iR hE

1 5 1227|8K #F Q) =15 29, 14.01
EF 293 BFiR4Ae

2 4] 1253//p 4k BABE Q) B 30, 53. 06
an vy 7a3 B5RmE

3 7 1437 &+ B (3) 53 32,14.00
RIS tEHES

4 8| 1531 &% Bk (3) =15 34,21.84
A1) 4% FAARSE

5 6 1269 th{& ¥#¥wE(2) a2 34,45.97
Thy a9 bt b=l

[(RES

[1H26H

11:11]




ZF

4x7100mR

"= KR)
RE#H (GR)

RB

Y

R4

46. 86
47.55

No.

K

& V-
1

5

EARER
KEAEVIZEY]

1300
1304
1302
1309

%

iE BBEE Q)
ThY nn

FE HFEREQ)
DLV INEL

B fEHE Q)
NEM Bk

RTE 2757 (3)
I8 &/

®/HE

47.56

INER
a0

1348
1331
1347
1345

"k F00t(2)
94 7ht
teEF E (2
E8 4 Uy
R =% ©2)
It YN
¥iE BIE(2)
Y47 79h

52.20

AFEFE
WAv29h” HhY

1388
1384
1387
1385

B R (1)
05N TR
Hf k& (2)
FAUIRES

g =g (1)
TN Y %
B’ EFIQ
YY3 ERS

53.88

tHERE
91" YrYEh

1484
1460
1483
1453

7 #R1E (3)
Y 73h

El #a ()
PE¥Y EI

He #=xQ)
4h 193
BE BRQ)
40t L1437

54.06

tHEAEE
914" 2y

1532
1533
1531
1540

AH ZoH(1)
T 1/3

A BEF(A)
159% V1

B Q)

ah) %

BT #HEQ)
Rz Al

56. 76

iRE
74 7313

1254
1256
1249
1255

S5 BEQ)
v/

SH XLKFQ)
134 13

B8 EEQ)
ARTRY 0

2R 1E(2)
F3H' D N

56. 93

EETFiE
918 $9739

1490
1488
1494
1493

A m=
vy bt
AKX R Q)
YL
INE E(2)
sy Uy
EE MO
44470 9%

59.27

LtEES
9I8ER Y

EiE

[(RES

[7TH25H

14:50 |




ZF

4x400mR

"= KR)
RE#H (GR)

RB

v

3,46.50
3,51.69

No.

E #

®/HE

& V-
1

6

FEA
INER
%0

1345
1348
1346
1347

BE RIE(2)
Y H7 79%
"k F00t(2)
94 Tht
El EHQ)
DhFAT 319
&R =ZE Q2
14 3y

4,17.50

EARER
KEAEVIZEY]

1310
1298
1297
1302

&HA FEZOQ)
35 f1Y

EH ¥4 3)
Jhy

=k IR Q)
MY 4R
B fEH Q)
NEM Dk

4,18.30

EREAR
9L AEh

1484
1483
1453
1456

7 ARTE (3)
Y 73

He #=%RQ)
ath U3
BE BR(Q2)
aht V43
I #HTE (2)
35"

4,34.13

AFEFEE
WAV JhY

1384
1385
1388
1387

Hr B (2)
b 4%

Z EFZQ
YY3 ERS
B R (1)
VES NN /S
s =g (1)
TNy 3%

4,37.27

LtHES
YIY LN Y

1433
1434
1448
1437

BIa f1EF (2
LES VAN |
HHE 2 (2)
TG A4
¥H EFQ)
EES A V)
I+ K (3)
NIVId

4,59.10

FHiRE
VNN

R 5

[(RES

[1TH26H

15:40 |




xF GRIB [TE258 | 9:30]
el
EE Bk
=]
B =% (KR) 1.77
REH GR) 1.76
R B
B B3 on - E % g 1m30 Tm35] Tm40] Tm45] Im50] 1m55] 1m0’ 1m65 2R mE
1 5 1310 {kE EEEQ) =% R
1 1462390 f%w() g 0 0 0 XXX 1.60
7H Bz (1 =
#“a%“g | . X0 X0 0 XXX 1.40
30 2 1433 E@n MBEQ =
;ﬁ’;‘”” g 0 0 X0 XXX 1.40
4 1 1348 ®Ek Faot (2) =
b o 0 0 |XXx 1.35
3 1303 3kfm &wHE () =153 Ri5
93 /)7 EARES




GRIB [TE258___[12:00]

%F
1 5ok

BE# KR) 3.65
RE#H (GR) 3.40
R
e ne - 2m30 2m40  2m50| 2m60 2m70| 2m80 2m90 3m00 3m10 3m20| -.
IEGE s Fon K % g% 3m30 3m40 3m50 ik "E
11 2 22511%7F %(2) = - - - - 10 0 0 0 XXX 300
1994 1) EARER i
20 1 2263 5K XE(1) = 0 [0 0 X0 [XX0 XXX 270
AR % 73% EARES i




XF CRE [TA258  [11:30]
EnE ek
H.
E= % (KR) 6.06
KEH GR) 5.92
RS
IEGL| B3 o - K 4 g4 -1- -2- -3- -4- —5- —6- ko #=
1 16/ 1415 87T BTEQ) 53 5. 11 5.09 4.92 4.96 4.99 5.04 5.1
Nz +H +1.1 +0.5 +1.8 +1.6 +0.7 +1.0 +1.1
2 15 1460 EL sa« (1) 53 5.07 4.88 5.01 X X X 5.07
p3¥Y I LtHESR +1.0 +0.9 +2.6 +1.0
3 17 1331 tkAH = (2) 53 5.01 5.07 X X X X 5.07
k54 )Y INES +1.0 -0.6 -0.6
4 14 1347118 =FE(2) 53 4.81 4.91 4.76 4.85 X X 4.91
#I¥ 3y INES +2.0 +1.6 +2.3 +1.5 +1.6
5 13 1412 /%8 BF 1) 53 4.59 4.82 4. 61 4.46 4.78 4.63 4.82
WV 743 +H +1.7 +1.9 +3.1 +2.0 +1.7 +0.5 +1.9
6 12| 1490 #m@E 5% (1) 53 4.62 4.70 4.67 X X 4.30 4.70
w4 Ut FTAFHE +2.9 +1.8 +2.17 +0.7 +1.8
7 4 2255 ;8% E(2) 53 4.11 4.43 X 3.69 4.22 4.62 4.62
¥/ 74 EARES -0.1 +1.4 +1.4 | +1.5 | +1.5 +1.5
8 11 2267 itk EMH (1) 53 4.51 4.45 4.38 4.40 4.37 4.50 4.51
hay Ik EARES +1.5 +2.1 +2.5 +1.9 +2.1 +1.0 +1.5
9 9 1462 1T7H EZ= (1) 53 X 4.41 4.30 4.41
¥ 399 13 LtEZEAR +2.1 +2.3 +2. 1
10 6 1249 & f£x (1) =R X X 4.29 4.29
ADRY 0t iRm +2.3 +2.3
11 10 1350 BB *3k (2) =i X 4.24 X 4.24
139 %) INES +2.1 +2.1
12 T 1228/t B3FTH (1) 53 4.21 X 3. 80 4. 21
vy 1y R +1.6 +2.2 +1.6
13 8 1448 &M EZ ) =5 X X 4.21 4.21
Y N LTHES +1.0 +1.0
14 20 1271 m/ # (1) o5 4.02 3.96 4.06 4.06
kY %93 AFH +0.2 +1.9 +0.4 +0.4
15 5 1318 2% 2 53 3.81 3.84 3.72 3.84
YT Fhn tEHES +0.4 +1.8 +3. 1 +1.8
16 1 1229 BéER =EIx (1) 53 3.67 3.78 3. 66 3.78
1IN v R4t +0.5 | +1.8 | +1.2 +1.8
17 3 1230 ElR #& (1) 53 3.76 3. 61 3. 68 3.76
AWV R4t +0.3 | +1.6 | +2.6 +0.3




xF GRIB [7TH268___10:30]

=Bk

E= % (KR) 12. 40
KEH GR) 11.99
RS
IEGL| B3 o - K 4 g4 -1- -2- -3- -4- —5- —6- ko #=
1 T 1484 78 #HRTE (3) 53 10. 40 9.88 | 10.25 9.87 9.77 | 10.38 10. 40
Y 7%h LTHZEARE +2.0 +1.8 +1.8 +2.4 +2.8 +2.6 +2.0
2 1 2267 &k =R (1) o 53 9.54 9.75 9.42 9.65 X X 9.75
WAy Ik EARES +3.4 | +2.8  +1.3  +2.9 +2.8
36| 1341 /N5 HHEQ) B X 9.56 X 9.62 | 8.32 X 9.62
MR 37 INES +3.5 +3.2 +2.2 +3.2
4 5 1483 Hd #£%k@Q) 53 X X X 9.21 9.51 8.75 9.51
410 193 LTHEAE +1.8 | +2.4 | +2.2 +2.4
5 3 1448 &E@A EZ Q) 53 8.99 X X 9.01 9.29 9.20 9.29
5 HY FTAERES +2.8 +2.7 +2.7 +3.8 +2.17
6 2 1532/ KA & (1) =5 X X X X X X
T4 3/3 LTHAES
4 1531 % &% (3) =R Ri5
4/ ¥+ LTHAES




xF GRIB [TH268___[11:30]
B =% (KR) 13.65
REH GR) 13.02
R B
[:dk%57 7“//\"—#} K % ’ FiiE4 -1- | -2- ] -3- | -4~ -5- | -6- | =8 ik
1 6 1455 #1:2 B Q) =
1 14391#3%% l(ﬂ)) LE%IQE 9.48 6.75| 8.93| 9.79| 9.42 X 9.79
S EQ2 [S153
Ly IRy g 8.03| 7.54 7.71 7.06| 7.53| 7.92 8.03
30 5 1201 &2 ®EQ) =
i 1333?;2%\}3) 1&'?3!1..%@ 6.64 7.41 771 7.72 7.85 7.83| 7.85
B =153
bt s 6.59 6.81 6.86| 6.99| 7.09| 7.16 7.16
1 1432 /Il EHE (2) =159 Ri5
1707 #0°Y rtAES
3 1308 #ufE HE() =154 Ri5
74k 7Y EARES




B'i; 1 000k B TEZ5E 1240
#2742 (1. 000kg)
=5 (KR) 44,69
A% GR) 42.79
R Bk
20 7] 1454 g{EJLgH%(Z) ggﬁ 0 0 2859 0 0 0 28. 59
75 F ML LHESE : :
3 9 1416 ;"j’m?ﬁ;;’) J'%:% 27211 X 0 2819 0 0  28.19
4 5 1201 &0 BEQ) E
6 4 1268 Eévi‘gg (2) %Ei% 2203 0 0 0 0 0 22. 03
73 1493 gé Zﬁg'li]@) ggm 16. 98 | X X 0 18.04| X 18. 04
8 1 1349 ?;2*3;%,”,53,;? @ %g;m% x 1518 0 16.70 x 0 16. 70
9 2] 1387 ;)‘)ﬂ;%];éﬂ) %iﬁ:% X 13. 69 0 | 13. 69
N Y 3% AFIEFE i '




ZF

(R A28 | 9:31]
N>v—& (4. 000kg)
B (KR) 47.97
KEH (GR) 45.51
R

JIE{:TL ﬁ?% 7‘125:1 _— HHEE%(Z% — g% 27—15—1 —02— —(;3— —(;1— 30—57—9 —;3— Sﬁoﬂfi i

23 126 % EFQ) oo 18.16 0o | o | o 0 0 18-16

3T s Ak A D i 16.51 o | x 1o lo | o 16-51

¢ 2 e AR B s 0 578 0 0 0 0 15.78

554 0 191 L E TS ' '




ZF

"él 0 600/( R [7TH268  9:30]
Y & (0. 600kg)
BEH (KR) 50. 93
K& (GR) 48.07
R
JEfsE | B4 Fon - K 4 ___ FE#A -1- | -2- | -3- | -4-  -5- | -6- | ii#k e
1 14 1254 ;—z%”»;%f%@) E*fim 37.36 0 0 X 3794 0  37.94
2 11 1488 ﬁk 5;(2) i%*ﬂ% 0 2050 0 0 0 3246 32.46
I e e e
5/ 120 1432 *':érl? ggﬁ%@) %éqz':ﬁﬁ 0 X 26.83 0 0 0 26.83
1517 19 ) LHEE ' '
8 8 1387 ;‘}Iﬂ\;%:/%};'ﬁﬂ) g"?&:‘:ﬂn% X 21.95 X X 0 0 21.95
9 1 1228 ﬁ*l\éﬁj’am %E{%_ﬁ?ﬁﬁ 0 21.50 0 21.50
Iy 14 FiRt ' :
10 4 1350 E;YEE;E%E(Z) ',?%,—%— 0 X 19.29 19.29
1 2 138 sl B&E®) =T
B9 3 iR ' '
B IR R 3 o T8 X 78
10 1308 Bkig (1) Bk Ri5
T4k Y EARES




%7
TR

BEH (KR) 4598
REH (GR) 4351
IEHL] o0’ - K & g% 508k ®E
1 2253 £t EON Q) &K 509 KEH
YFE /4 EARE®S
2 1301 A% 2E (D) B 3818
THE) $h EARER
1303 3k/m /& (1) =R R 5
#0517 EARERS

[(RES

[1TH26H

14:20 |




B F B3 TA25H 1 9.30]
+t#&E100mH

B 5% KR) 14.10
R
BR -2.6
IE -y No. K R4 iR thE
1 5 223X FOM(2) R 14.75(875)
YF¥ &/ h EARES
2 3 1301 k&% BEE () a2 16. 27 (682)
11E) #h EARES
4 1303|3kfR /(1) B
1+ 93 )7 EARES Ri5




BREZF

LT

7

[(RES

[7A258 __ [11:00]

R
Bz & E Fon - K % E4 1m45/1m50 1m53 | 1m56/ 1m59| 1m62 Tm65 8% ES
1 3 2253/ FOH(2) [S153 _
. 1 “}jz};k/”é() EAEDES 0 0 X0 XX0 | XXX 1.62 (759)
% BE( [S153
TE) #4h EAEER °o 9 X0 |XKO XXX 159 1)
2 1303 B APE)  BR R15
05 107 EAEDE




BRXF RE TA%E __12.11]

TEEAR

13.65
R
- E & R - s | 3= 4= | 5= | 6= | mE@ | mE
)= EXOY VA [S153
) 1 “}jz;{;kgé(n E%EE% 8.15 8.80 | 8.91 8. 91 (458)
X =R
) 4 EAEER 8.008.31) 839 8.39 (498)
31303 B APEA)  BR x5
05 107 EAEDE




B F B3 TA25H _ [13.45]
+t#E200m

B 5% KR) 24.53
R
B3R -0.7
IE -y No. K R4 iR thE
1 3 223X FON(2) B 26. 43 (760)
YF¥ &/ h EARES
2 5 1301 k&% BEE () a2 28.02(629)
11E) #h EARES
4 1303|3kfR /(1) B
1+ 93 )7 EARES Ri5




BRXF RE 7A268 1 9.30]

LAENTRS

6. 06
R
IEfr B % ton - K £ =S -1- -2- -3- -4~ -5- -6- FDER "wE
1 1 2253 £ EOr Q) & 5.564 | 5.59 | 5.46 5.59
YFY H/h EARER +1.3 | +1.3 | +0.7 +1.3  (726)
20 2] 1301 KHF BEFM) = 4.78 | 4.86 | 4.85 4.86
11EY $hh EARES +1.2  +0.6  +1.4 +0.6  (522)
3 1303 3kR wHEN) | R 5
%93 /)7 EARER




BRXF RE TA268 __11.30]

tTEPYKR

50.93
R
(L ST NN R - s | 3= 4= | 5= | 6= | mE@ | mE
)= EXOY VA [S153
23 101 A BE () e T e
X =R
) 4 EAEER 21.61) 0 | 0 21.61 349)
2 1303 B APE)  BR %15
05 107 EAEDE




B F B3 TH26H _[14.20]
+t#E8 00m

B&#H KR) 2,05.78
R B
[ No. E % mEE  ERWE
1 4] 2253 B [ZOH(2) Bk 2,34.44
YH K/ EAREE
2 5 1301 X% 2E()  BE 2,44.98
HHE) 44 EAREE
0 1303 %R RPHE() BE
0507 EARES x5




1-7° 0% F

700m

255 KR) 12.00
FiE BREE 14 0% + 0

[ 1#8] RE=® -1.3

J&| b-»| No. iE® & EE

1 3 13004z BEQG) &k 12.94
5y EARES

2| 2| 265&F@E tE0) B 13.50
EVZ M EARES

3| 6] 2255 ;2% E(2) =15 13.65
*¥/ 74 EARES

41 4 1310 {kHA HEHRQ) B 13.72
3% 1Y EARES

5 7] 2251 B8F E® =15 13.90
1794 1Y EARES

6| 5| 2263 8K XBF() B 14.04
VY WAL EARES

625

[7TH25H

110:51|

Q:EGLIEEBEE o: 24 LERBE



—7°
1-7° 2% F B 7H268 | 9.50]

200m

RESH 24.53
R
BE -2.0
J&| b-v | No. K & ik &/ RE
13 1200 k¥ 2/ EQ) B 21,77
4 /)3 EARES
2 4 265E=@ tE1) B 27.96
EVZ MR F EARES




1-7° 2% F B 7A25H__[10.00]
400m

Ba#H 55.42
R
IE V-»| No. K 4 R4 ik wE
1 5 2266 Kege ZF(1) = 1,00. 26
Ttvh ¥t EARES
2 3| 1306 /Il ST (1) = 1,00. 55
17199 134 EARER
3 4 1307 8K # (1) = 1,06. 28
W7F EI EARES




B 2,05.17
R B
] No. K & R4 ik HE
1) 3 2252 F# EBR(Q2) |&& 2,45.11
YEhy 32 EARES
4 22642 EEN) B
VS Bk EARER Ri5

[(RES

[1H26H

10:26 |




	女子表紙
	決勝記録一覧表
	女子100m
	女子200m
	女子400m
	女子800m
	女子1500m
	女子3000m
	女子100mH
	女子400mH
	女子5000mW
	女4×100ｍR
	女子4×400mR
	女子走高跳
	女子棒高跳
	女子走幅跳
	女子三段跳
	女子砲丸投
	女子円盤投
	女子ハンマー投
	女子やり投
	七種
	七種100mH
	七種走高跳　
	七種砲丸投
	七種200m
	七種走幅跳
	七種やり投
	七種800m
	ｵｰﾌﾟﾝ女子100m
	ｵｰﾌﾟﾝ女子200m
	ｵｰﾌﾟﾝ女子400m
	ｵｰﾌﾟﾝ女子800m
	東信女子記録集
	七種100mH




